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¥5121 5n1571 Y21 &K 7295% — Therefore if the wall collapsed, etc.

Overview

The 71wn teaches us initially that (under certain circumstances) either partner
can coerce his neighbor to share in building a dividing wall. The m1wn then
concludes: '19°9%" — therefore, since either partner can coerce the other to
build, we can safely assume that they both built it together. That is why in
case the wall collapsed, they both share equally in the material and space of
the original wall. We may infer from the 7awn that without the '72°9%'; i.e.
when one partner cannot coerce the other to build a wall, then the "7 is not
necessarily that they divide equally. If the "7 would be that they always
divide equally, regardless whether they can coerce one another to build the
wall, why does the mawn state '12°9%'?! They always divide, regardless! n»oin
will be discussing what is the 17 without the "12°9%'; in a case where they
cannot coerce each other to build. n1901n will argue that (seemingly) in such a
case we will also say 1?121°; if we do not know who built the wall. It will be
necessary to explain why the 71wn states that the 77 of 0°p%1m depends on the
'19°9%"; on the power of coercion to build the wall.

w17°p — The explanation' of the word 1207 — ‘therefore’, is

arm2 bya o 2012w 90 — since we build the wall even against the will of
one of the partners’, therefore the rule is that they divide the material and the property”.

moon will now explain how is it that we determine that indeed it is required that the wall
be built in partnership, even w13 %2 of one of the partners. There are two options,
depending whether we maintain pra 7w X1 pri or not”.

N7 wy® MY v upny awn R — Either because they contractually

obligated to each other to build a wall.

' One may think that the meaning of 725" is that since we know that they built the wall together, therefore
they divide. mpon negates this interpretation. That would be too obvious. If we know that they built it
together, then obviously they divide the o°1axy o1pn. Rather the explanation of 7297 is, that we know that
either partner can coerce the other to build, but not that we know that they actually built it in partnership.

> When we say 72°0%' — therefore’, this presumes that there is a prior cause which triggers the effect, the
resultant ‘therefore’. MvoIN is explaining what is causing the effect that they divide the material and the
space.

? Either of the partners can coerce the other to build the wall according to the specification of the mawn.

* The assumption is that since either partner can coerce the other to build the wall in partnership, he will
certainly do so. No one partner can later claim that he built the wall on his own (and solely on his property).
We assume that neither built the wall alone; rather they built it together.

> See the X »3 immediately following the 3wn. The concept of 7°X1 P is that either party may be suffering a
loss of value of his property since he cannot use it to its fullest extent. He is hampered by his neighbor who
can see all that he is doing. The dispute in the X713 is whether this damage warrants that the aggrieved party
can coerce the neighbor to join him in building a wall, or not.
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Rnp X395 - This is according to the first opinion in the x7»3, which maintains
that pri 7w WS &Y pra. This opinion maintains that the only way one partner can
coerce the other to build a wall (according to the specification of the f1wn), is if they
initially agreed (with a 1°3p) to build a wall®. When this wall collapses they will divide
everything between them as the 71w states, providing that it is —

1997 1D 21797 PAoY — in the instance where it is still known to us —

712 77 upaw 2912 — and we remember that they contractually obligated

to each other to build the wall. In such a case even though we are not aware of the
details of their obligation, it is irrelevant. Once a general commitment was made, each
partner is obligated to follow the specification of the 7wn and can be coerced to do so’.
This is the explanation according to the ¥1p X1w°% who maintains P 70w 1R 78 P,

mooIn continues with the second option:

X n2 X199 — And according to the concluding opinion which maintains that
PIN Rw °R1 1, there is no need to remember anything. We assume that they both built
the wall —

TR P17 2R — on account of the P89 P97, Any partner can always coerce the
other to build a wall between them. The other partner must contribute to this wall as the
mawn specifies. According to this 19, the '79°0%" of the mawn is universal. The 17 of PN
applies in all situations in a 7%m.

According to either option mentioned above we divide the wall because we assume that
both partners contributed equally to this wall. That is what the '73°5%', means. It would
seem that if for any reason we cannot assume that both partners built the wall, then we
would not say om°1w 2w 2°1a8m 0pni, for we are not sure that it belongs to both of them.
What would be the ruling in such an instance? m»0o1n is presently discussing this issue.
NOR SN2 8D 28Y — You may ask; why is the miwn teaching us that the
partners divide —

amms bya S 12T 2wn — since they must® build they wall. We therefore
assume that they indeed built the wall together.

“27 'R%2 — without this assumption that they both built the wall —

o Hw 3 m1 — it would also belong to both of them, when it collapses.
There would be no choice. We do not know who built it. It is an equal p50. Therefore 7'"°2
will rule that y>7%m°. How else can we rule?! The question is why the mwn implies that the
(sole) reason for Y9 is '12°07', since we assume that they both built it. The 17 would be
P12 regardless; even if we are not sure who built the wall.

mooIN anticipates a possible solution to this question, and rejects it. It is possible that if we
do not know who built the wall, 7"2 will award it to one of the partners. If the wall

® They did not specify at the time of this agreement as to the details of the wall. Either partner can
subsequently coerce the other to build it according to the prescribed specifications of the i1wn.

7 If, however, we do not remember that there was a 7°3p, then according to this opinion, it seems that if the
wall collapses we may not necessarily say 172m. We are not certain who built the wall. The 73wn when it
says "12°97' is not discussing this case. It is only discussing the case where we know that there was a 7°1p.

¥ Each partner may coerce the other to build it.
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collapsed into the property of one of the partners, and that partner claims that he alone built
the wall, 7"2 will award it to him. That partner has possession of the stones. He will be
considered a “prmm; 7"a will say to the other partner 7°X17 1Y 112 ®°x 7. Bring proof
that you contributed to this wall, and we will award it (partially) to you (as well). This is
the case the mawn is referring to'”. It is understood now why the f1wn says '72°0%'. It is only
because we assume that both built the wall; that is why we say 21721 even if one is a prmn
(the stones are in his possession)“. If however there would be no "12°9%'; if we could not
assume that both built the wall, then there would be no %1 in the case where it collapsed
into one partner’s M. Rather the 17 would be 787 19¥ 172ann RoXwAn.

mooIN rejects this solution for -

1779°39% TRT RN Ho1 19oeR — even if the wall collapsed into the property of
one of the partners, the 17 would still be ¥1217°; even if we are not certain that both built it.
The fact that the stones are in the possession of one party does not make him a prn. The
other party is not a 172r7 X°X¥. In such a case also, the 17 is y1217°. The question remains:
why the '75°9%'?!

moon will go on to explain and to prove that even if 777 XMW1? 251 nevertheless we say
171 without the 7297

T K91 7719 K ot K999T 1195 — since neither of the partners has a *nom to
prove that the wall is his'®. Therefore we will say ' yp15m.

mooin will prove that when there is no Nt we say 21> without the 7397, even if 991
T MY

TYPA 933 N3 7972 — as the X3 asks'® concerning a ‘valley’. The mwn
states that by a vp3, if both parties consent to build a dividing wall they should make a
111 on both sides of the wall, to insure their equal ownership rights to the wall. The X723
asks; why should they both make a n1n? —

79 XY 7D KD N e KXY — neither should make a n»m. There should be no
n11 at all and everyone will realize that it belongs to both'®. This concludes the quote from
the X773, N1BOIN continues with his proof.

? This type of prm is not because the 7pin ‘proves’ that it is his. Rather the fact that the disputed object is in
his actual possession, automatically makes the other claimant a 17°2nm X°¥11 (under certain circumstances),
and therefore the burden of proof is on the X>x.

' See the ,7 X3 the line beginning o,

" There is good reason to assume that both built the wall; since either one can coerce his partner to
participate, we assume that he did so.

'2 A i is a certain 12°0 made on the 9013 to prove ownership.

" 1t seems evident from n2oIn later, that the lack of a n*t is not proof that he did not build it. Rather the lack
of a n*111 is a lack of proof that he did build it. See footnotes # 21 & 35.

" In this case, without the '72°0%', the P21 will be poon, as opposed to the case of "72°0%' that it is a 7p1on
ORI

59777,

'® The X3 there answers that indeed a n*in is generally not needed at all. The mawn is discussing a particular
situation where a double n°117 is needed.
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A H17 TIRTT N7 R — and if the 17 would be that it belongs to the
party, into whose property the wall fell, then —

7992 5R% — how can the X1) ask that there be no n*1 at all —

N MY TOMX K7 — it is obviously necessary to make a double n°1 in case
MR nwab 920 X9w — it should fall into the other property, that owner
should neot be able to claim -

37 9w "»R" — and say that it is his wall. If there will be a double n°m1i then no
matter where the wall falls no one will be able to claim falsely that he alone built the wall.
There is the double n111 to prove otherwise. If however there is no n°117 at all, then if we
were to consider the one in possession to be a p1mn, the other will lose out without the n*i.
The fact that the X793 maintains that no n°17 needs to be made, proves that even if the
stones are in either party’s possession he is not a prmn and the 17 is 2121, (even) if we do
not know who built the wall.

mooIn has proven (from the "7 of 7vP2) that even if it fell into the MW" of either partner, he
is not considered a pP1Mn, even if we do not know who built the wall. The question,
however, is why indeed is he not considered a pimn. NMPoIN will cite several cases,
seemingly similar to our case, where the lone fact that the article in dispute is in someone’s
MW", this alone confers upon him the status of a pin.

(%,7 77 Rz x33) PRI 3087 X7 — And that which the X3 says in P9
bR

=v%212 5775 §°hnn 928 — concerning the case in the mi1wn where one exchanges a

(pregnant) cow for a donkey; The exchange was effected by the owner of the original
cow making a 121 117 on the donkey and acquiring it for himself, thus automatically
transferring the cow into the possession of the original owner of the donkey. The pregnant
cow was not present at the transaction. After the transaction they became aware that the
cow had given birth to a calf. We are not certain when the calf was born. If it was born
before the transaction, then the calf belongs to the original Y3971 Yya; if it was born after
the transaction it belongs to the new 777571 992 (the original 1 %v2). The miwn there states
that the 777 is 3121, The 7797 %¥2 and the M0 Yva divide the value of the calf. mpoin will
shortly cite the comment of the X773 on this ruling . -

(2,tup 2w) TMOPTY N7 w2 321 — and similarly in the beginning of nva77 P
79990, the X3 makes the same comment. The 71w» there states that if two people own a
house and an attic as partners; one owns the house and the other owns the attic. If the entire
edifice collapses they divide all the material equally. Neither can claim that the whole
bricks are his and the broken bricks belong to the partner, since we cannot recognize to
whom these unbroken bricks belonged to originally. In both these cases the X711 challenges
the mwn:

NP NPT XDMWA2 709 — let us see, in whose possession is the disputed
article found —

TORT 9P 17930 RO 79K 79 — and the other party will be considered

as one who attempts to seize from his friend, in which case the burden of

' The transaction was to exchange (only) the 712 for the 97n; not a 77>M 712.
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proof is on him. If the calf or the whole stones are in either of the parties’ possession,
that person is a prm» and he gets to keep the calf/stones'®. The other party must prove that
the calf /stones are his. If he cannot prove it, we leave it by the '"prmn. We see from these
mna that by a poo the prmn retains the disputed article. We do not say 317 in face of this
2%n npin. The same should seemingly hold true in our case. If the wall collapsed into one
mwA, that person should retain the stones, since he is the 21pmm. This would answer N1501N
original question. Without the 75°9%, if we cannot assume that they both built the wall, then
indeed if it fell 717 XMW, we would not say 1217m°, but rather X177 19¥Y 172 R¥INT (as
we say in n"2 by the calf/stones). However since we know for sure that they are partners
(since they both must build the wall together, as previously explained) — therefore — "713°9%'
the 77 is Dpm!*

mooIn rejects the comparison of our case of 1oMwi to the cases in 2"2 of the ‘calf/stones’.
The fact that there, in n"3, the 17 is that whoever is in possession is the P1mn, does not
require that here in 2"3, he is also a prmn. The cases are different; as MooIN goes on to
explain. In »"2 the reason why he is considered a p1mn —

anmT awn 1197 — is because there in "2 by the ‘calf/stones’

=277 797 Man 9nnn — originally (before the transaction and before the
house collapsed) the situation was clear. The (fetus of the) calf belonged to the
original 7971 9va. We know whose stones belong to the n°an %va, and whose stones
belonged to the 7%y 9¥a. There was no 0 originally.

DO 79 37 IR nwnay — The poo was created while it was in someone’s
possession. There was never a moment when there was a po0 that there was not a pPrmm.
The 50 did not precede the npin. In fact the 711 preceded the 590, Therefore, that type
of 1 npin, where the 90 does not precede the 11, it is a valid ap1m.

No17 ¥aX — however here in ponwi where we are discussing what the 17 should be
without the '"12°5%', namely if we are not certain who built the wall, then —

P57 791 Npwn — the po® to whom the wall belongs, was created
originally, from the moment the wall was built, before there was any P, mMDOIN
illustrates this point:

' In the case of the calf he receives the entire calf. By the stones he can retain all the whole stones that are on
his property, but must give an equal amount (by volume, weight, etc) of broken stones to the other party
129m0.

1% The X3 answers there, that the 711wn is discussing a case where it is in neither nw". However if it would
be 717 XMWI2 the PT is 79X 1PHY 11200 RO

20 mpoin cited these two cases as proof that we say 71"ym»71, because they have similarities to our case of
1omws. In all these cases the n1p1 does not prove anything at all. There is a serious doubt as to the ownership
of the disputed item even after the ;ip1n. In addition in these cases the ;1pTT was not there originally. The
person was not always p1mn in the object; it occurred eventually. There was a time that we know that he was
not the P,

! See footnote # 13.

* Were we to accept this answer, there would in turn be a difficulty by 7yp2; how can we say nm wy> x5?! It
may fall 717 Xnw>.

» When we became aware of the po0 (the birth of the calf, the collapse of the house) the disputed article was
already in someone’s mw".
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?1o1 PR2 177 2y — for if they would come to 7"2 and argue how to divide
the wall.

2"y Ynnw 72 — while the wall was still standing before it collapsed. If each
one would claim that he built the (standing) wall, the 77 would be —

PeOR MW PP 17 — they would divide the wall equally, since there is a
720 as to who built the wall. m201n will soon conclude his thought; that since originally
there is a Po0 before there is a P11, and as a result of this P50 we say 2, therefore the
npin that follows this 17171 does not have the power to deprive either of them of their
rights in half the 2nm>.

However noon anticipates a certain difficulty in this assumption that if they would come
to 7"2 to dispute the standing wall, 7"2 would rule 31%1°. Generally there is an ongoing
NP9 between 010M0 and the 2°»o1 by poD2 PV PR, MOMO maintains that when in
doubt, we say 2. The 0°non on the other hand disagree and argue that we do not say
YPY2m° but rather X777 1°%¥ 172ann R, Why is mooIin presuming that if they would come
while the wall was still standing that 7"2 would say >m°?! This is only the opinion of
019110; the 0o disagree. moon presently addresses this issue. The 17 will be 1177 —
212287 3379 195K — even according to the 3321 who argue with 212218

PRI PO Yuan 3R 19 197 — and they do not maintain that you divide

monies that are in doubt to whom they belong, but rather we say 1"9¥ 172an2 XoXW7
7R, nevertheless -

171% 8257 - they will agree here in this case of dividing the wall that we do say P17
aton ANty X7 Pt X997 3192 — for here (when the wall is standing),
neither party has a greater 711, There is no prm» while the wall is standing. We
cannot say m°X17 1°9Y 112mn XoXAn; there is no X°¥m and there is no prmn. Therefore the
o°non agree that we say 171, We have established that the 17 is 3121 when the wall is
standing even according to the 2°»2m.

mooIn returns now to conclude the previous thought; that since in our case the pod
preceded the 7P, and in fact 7"°2 would have awarded each partner half of the standing
wall.

79957 — therefore it is understood why the 7Pt after the wall collapsed is not valid. For

¥R AT KPR 91 Y99eR — even if it eventually fell into the nmw= of
either of the partners

72 NN 7°02° X2 — the other should not lose his right. He would have been
awarded half by 7"°2; nothing really changed with the collapse of the wall. The same pod
that there was before the wall fell, exists now as well>*. The fact that the wall fell in

* This is in contrast to the two cases in »"2. By 2vana 719 7°%nn there is a new ingredient; the calf was born
during the 19°91 process. We are not certain whether immediately before or immediately after. No one can
claim the calf based on the previous situation. Everything changed with the 19°%1 process and the birth of the
calf. Therefore the P11 resolves the 90 in favor of the prmn. Similarly by 7°°%¥m n*a7; there is no prior
claim. It should be borne in mind that they both agree that half the stones belong to each; they are only
disputing which stones. It is not recognizable to whom the (whole) stones belong to. The situation has
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someone’s MW certainly does not change anything. This 7P does not give him any
additional rights than what he had before, namely that they each receive half the wall.

mooin refers back to his original statement that if the 1mw would go to 7"2 while the wall
was standing, 7"2 would rule Y2771 even according to the 7127, since there is no prm» and
no XX1M. N1BOIN again questions this assumption:

N7 MR K97 N7 — And the reason we do not say here in the case of Pomwn
where we do not know who built the wall, and they came to 7"2 when the wall was
standing, we do not rule that —

223 27%K7 92 — whoever is stronger overpowers the other and retains the disputed
article

(2,7 %) NN DR IWIN 712 M5 — just as we say concerning the case where one

says this belonged to my parents and the other claimed that it belonged to his
parents. The case in question is where two people are arguing over a ship (or a parcel of
land), each claiming that it is his, for he inherited it from his parents. Neither has any proof
at all that it belongs to them, or that it belonged to their parents. The rule is 723 2287 5.
Whoever is stronger may overpower his opponent and take possession of the ship/field.
We do not say 1171, mpon asks that perhaps here by the Pomw with the standing wall, we
should also say 723 0°9x7 23 and not o, %

Mmoo answers that we cannot compare the case of oMW to the case of *MAaR 2w K 7.

N7 an? - over there, by the case of *Max >w X 71 we say 123 2°2X%7 93 and not 217,
because —

RIMMT X177 K2°57 — there is no monetary attachment® between either of the
litigants with the article in dispute. We have no reason to suspect that either of them have
an interest in the disputed article. In fact it may not belong to either of them. Or it may
belong to one of them.

RI7%7 K77 XK X577 YaR — however here by 1omwn there is a X11%»T 8117,
When we notice a wall between two adjoining properties we automatically assume that
both (or either) of the adjoining property owners has an interest in this wall. When there is
no X117 X117 there is no reason to say 1217°. When 72 rules 1191 we are awarding each
individual, part of the object. There is no compelling reason to award them anything. It
could be they both do not own anything in this article. 7"2 tells them we have no way of
verifying the veracity of your statements, therefore you are on your own, so to speak.
However when there is a X117 X777 there is compelling reason to award each of them
half. It is evident that each party has (at least a possibility of) an interest in this article by

changed. There was no doubt before the collapse of the house. After the collapse there is a new poo. This is
resolved by the 7p1m.

* Were we indeed to say 723 27X7 93 by Pomws, then the previous line of reasoning which differentiated
between the case of PoMwi and the cases in n"2 would be refuted. The fact that the poo preceded the 7P
would be irrelevant. When the 20 existed the rule would have been 123 2987 73, meaning that possession
determines ownership. This continues to be the rule after the wall collapses. If it fell in one’s N, he is the
723 09X,

% See X2°71 1"7 2,2 »"2 Moo (and X717 "7 2,72 2"3) who interprets X1mnT X177 to mean that @° 2P MIYY K92
7"*2% poo — without their claims 7" is in doubt as to whom the object belongs to. It is a self generated doubt.
In the case of *max Hw X 11 there is no self generated doubt. The 750 is created by the litigants only.
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virtue of the circumstances itself. 7"°2 needs to protect that interest. It does so by ruling
7191, Therefore in the case of Pomw: as well as in the cases of N2 779 9907 and N°an
LY, we say P

In conclusion: maoin proved that if the wall between two adjoining properties, fell xmwa?
7117, that person is not a PImn, even if we are not sure who built the wall. The "7 in such a
case will be P21, The question remains; why does the mwn say '73°9%'?! The '73°5%'
indicates that the 17 is 2217 only because we are assuming that they both built it. This is
not true. The 17 will be 2’7117 even if we are not sure at all who built it; and even if 993
717 MW, NvoIN will now answer the original question:

N222 TODT 7 17 PAxs 1929 vanny — And the >''1 answers that indeed
the X773 actually asks this question®’ -

XD — It is obvious that the 7 is 2°711! The X713 questions: why does the mwn say
'@ PN "1 707, it is obvious. The literal way of understanding the question is; once the
mwn taught us that they must build the wall it is obvious, that when the wall collapses it
belongs to both of them, since they both built it. 190N, however maintains this is not the
intention of the X nx. Rather the question of the X723 is -

oIWIIPR WIS — as v''w1 explains it.2 o explains the question as follows: why
does the mwn connect the 17 of 2°p>11 with the previous ruling that both have to build the
wall;

TPR%INRT RN 19 PooD KD Y9eRT — for even if the Xin of our 7w» would not
have ruled -

ams bya MNwy 2w P2 oavonnew — that originally they both (were
required to) build it together, nevertheless the 17 would have been —

mwsa P 19 — they would be required to divide everything equally,

19097 7T RMwab 9517 19°8RY — and even if it fell into the property of either
one, they would still have to divide™.

7YPa %33 n2mTs — as is evidenced concerning the case of 17wPa, which nooIn
mentioned previously™. maoIn maintains that his question and the question of the Xm3
when it asks ''Rvwd', are identical’!. What indeed does the X3 answer on this question?
mMooIN continues to cite the XA

YIOIM T RNWWTD D217 XOIME KD wny — and the X 1) answers; ‘it was not
necessary to utilize the '12°9%', except in a case where it fell into one
person’s property’. This concludes the quote from the X3 However this answer is
seemingly not sufficient. Moo has already made it clear that even without the '72°5%' the
17 would be 121720 even if 717 Xmwn> 901, What is the answer?! n19010 continues:

7R,7A7.

¥ See xww» 71"7 2,7 °"w". See following footnote # 29.

% "y does not state this at all. When mooin says 07012 w072, he is referring to the general thrust of the
question '®wa'. It is not to be understood literally, but rather the way "9 and n1901n interpret it.

% See the main text by footnote # 15 & 16.

3! It may be appropriate to summarize the question as follows: Since even without the 197", the "7 is 1o,
then certainly with the '73°5%' the 1°7 is surely 17m; it is X wo! See 717w 1o,
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w19%5 — The explanation of y>1n 777 Xmwa? 991 is that the material that fell into that
person’s property -

72957 A2 1Y — remained in his property for an extensive period of time**.
The other partner did not come to claim the stones until a much later date from when they
originally fell; therefore —

N%°n7 7% — one may have thought -

71297 1MW W7 3195 — since they were in his possession for so much time
9 MRy i — we should believe the p1mn if he claims that he built

the entire wall himself. How can we believe him [if we assume that they are both
obligated to build the wall] (alternately, n1201n has already taught us that he is not a Prm
since the 7111 followed the ?50)? N1voIN explains that we should believe him that he built
the wall by himself, since he has a —

TONARPY TR MR OYIIRT 13 — 1, for he could have claimed I bought the

stones from you after the wall collapsed. Had he actually claimed that he bought the
stones from him, the 17 would be that —

1K1 79 — he would have been believed®. Therefore now that he is claiming that
he built it himself, I may have thought that he should be believed with this "3°»', that he
could have said, ‘I bought the stones from you’. This 1 is valid only because it was 17w
7277 1MW, if however the other partner came immediately to claim the stones, there is no
Wi of Jan nnph. Even if he would argue that Jan 7°nnp? he would not be believed if R
7277 MWN2 AW, since it is normal that when the wall falls it may fall in anyone’s mw". He
cannot claim that he bought it, if the neighbor comes to claim it within a reasonable time.

mooIn anticipates a challenge to this assumption that if YMwH2 7277 W, the pimn is
believed to say > nnp .

TORYT N2 WM ARKRT 23 Y 09X — and even though the X7n) states in the
beginning of 7> n%an Pd
“TTAR 975p KXY PEnwT — that partners are not particular towards each

other. Generally people are particular and insistent that their belongings be in their
possession. Therefore if an article is in someone’s possession we assume that it is his. Any
other person, who claims it, must prove ownership. If it is indeed his, how come someone
else possesses it? This rule does not apply by partners. If people own a business in
partnership, neither can claim that any article associated with the business belongs solely
to him, even if it is in his private possession; for *777% *79p X2 19mw, they are not particular
whether their business items are in either partner’s possession. In our case, we consider the
wall a partnership. They were both obligated to build the wall together34. They are
considered partners in this wall. It would seem to follow that even if the collapsed wall
remained an extended time 717 XMWwI2, he still cannot claim 7°nAPY R, since XY 1OMWY
PTTON TOPR.

> See ‘Thinking it over # 1.

3 This is true even after the '72°5%'; even if we know that they both built the wall he is believed to say 7°nmp>
Tn if it was 7277 17w, See ‘“Thinking it over # 2.

3* See 0"7n on our MRT XM 7R 7"7 02 ,mooIn. Alternately, since he is claiming a1 7°nnp?, there is a
tacit admission that originally they were partners in the wall. He should therefore not be considered a pri.
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mooIn responds:
MH39 575 N1 ITWT 9991 K27 — here by 1omwr, it is a situation where it

remained more than it is customary. It was in the possession of the prmn an
inordinate amount of time. Can we assume —

1701 PPEMWT 2R YWuRYT — that just because they are partners —

29 7Y 17°5p° X — they will never mind if an article that one has in interest in,
should remain in the possession of his partner for ever?! Obviously it is not so! The rule of
TR °79P XY PONW also has time limits. Our case of Pomwi is in a situation where this
time limit was exceeded. Therefore if the pimn would claim naP% Jan he would be
believed. That is why if he claims that he built it, he would be n2 X1 of 0P nn; if
we were not certain that they both built it together.

mooIn anticipates an additional question on his assumption that the prmn is 72X3 to claim
7°NAPY TR since it was 7277 MW W,

MA73% 127 891 — and we cannot compare our case of 1MW to the case of
‘herds’ of sheep; concerning which the "7 is —

(8, 77 yapb) 7PN 22 18T — there is no 7 for herds of sheep. If it was known
that a particular flock of m1773 belonged to ‘A’. A while later these m713 were in the
possession of ‘B’ who claims that he bought them from ‘A’, who, in turn, denies the sale.
The 17 is that the NM177i revert back to ‘A’, since ‘B’ has no proof that he bought them. The
fact that they are in his possession is no proof of ownership, since M773 move on their
own. It is very possible that the ma71 left ‘A’, by themselves and wandered over to ‘B’.
Therefore ‘B’ never has a 7P, no matter how long the M7 are in his possession. This
seems to contradict what mo01n said that if 7277 17w, there is a 7PI7; why by mA71 is there
no P11, no matter how long they are in his MwA7?!

mooIn answers that there is a distinction between 15Mwi and M3 By M77a there is no
TpPTh ever —

277 "M 7°2 17 PRY 1Y — for it is not known in whose possession they are!
‘A’ does not know where his M7 went! He is looking all over for them! We cannot fault
him for not going to ‘B’ and claim the M2 713. ‘A’ had no idea that they were by ‘B’!

X277 928 — however here by 1omwi we can fault the X%, If they were indeed his, and
he did not sell them to the P11, then —

IMWA2 72 72 M 77 8 — he should not have let them remain so long

in the possession of the prmn. The XX knew that they are by the prmn! The fact that
he did leave them by the 1 for such a long time gives credence to the claim of the pimn
that 7°nnp% 72, and he is believed.

nooIN has established that in the case where [we are not sure who built the wall and] the
wall collapsed 717 8XMWw? and it was 7277 1MW 17w, the 17 is that the prmn is; a) believed
to claim 7°nnpPY Tnn; and b) is therefore believed to claim that he built it, since he has the
Wi of nnph Tan. We return to the original question of mMooIn and the X3 Why is the P71
of 2P dependent on the 21 to build a >mM3? Seemingly the 17 of % will always
apply even without the 2111 to build. The answer is that in a case where 7277 \MWw"2 17w,
the prmn has a wn of 7nnp? nn and is therefore believed if he claims that he built it (if
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there would not be a mM13% 21°m). We might have thought that even when there is a 2rn
n12%, he should still be believed that he built it himself since he has the » of 7°nhp? 0.
The n113% 21’11 does not contradict the miww of °nnPY 9nn, and seemingly does not contradict
the argument that 7913 °n°3a. It is possible that he built it himself and has ceded his right to
coerce his neighbor. The 13°n should support this contention. That is the answer to the
Xuws. It is not obvious that we divide the wall; we may have thought that the w» is
sufficiently strong to award the P the entire 701 —

1 ynwn Rp — the 3w teaches us with the phrase o 5w 191 72°99', that -

MWYS o7 27w Y RApIpnT 3192 — since initially they were both required to
build the wall

b7 Y RYTR Y% 172 XY — he (the prn) is not believed to claim that he

built it all by himself, even though he has a 1. Had he said mnnp? 9an he would have
been believed (even if we know that they both built it together), nevertheless now that he is
not claiming °nnpY Tnn, but rather that he built it, the W is not sufficient to support his
argument —

N7 297v 23Pna T — for it is a % which contradicts witnesses. If there
were witnesses that they both built the wall together, and the prmn would claim that he
built it himself, even if he has a W of 7°nnpP% 11, he would not be believed. The proof of
0>7y is much greater that the ‘proof” of the 1. In the case of our 7wn even though there
are no actual 2>V to testify that they both built it, however it is considered as if there are
07y that they both built it —

17ab INRY X9 9770 1INT — for we (7"°2) are the witnesses that he did not

build the wall himself. This does not mean that we actually know that they both built
the wall, but rather we are certain in our minds that neither built the wall by themselves —
1972 17921 IR PINTY 9199 7w 1190 — since he was able to pressure his friend
legally

Yy ey mnw — that the friend should built it together with him. No person
would forfeit this right to have the partner share in the expense of the wall, and rather do it
on his own. This then is the w17°n of the miwn when it says 72°9, that even though he may
have a wn, nevertheless he is not believed and we say 2’21, because there is the 770 1R
which is stronger than the 13°n.

All of the above apply only when there is the >770 1R, and the resultant 73°9%. In a case
where there is no >7770 X, either according to the 7"» that P17 7onw X2 7K P, in a case
where we do not know that they agreed to build a m>, or in a 7vp32 according to everyone,
the 17 will be different, as Md010 concludes:

mypa2 YaRk — however in a YpPa, where there is no 210 to build a wall, the "7 is
different. If a 5N was built in a 7yp2, without a n°1r, and the wall collapsed 717 Rmw"2 —
72977 v aR — if it remained in his M1 for an extended time

IRWYR % 2R1 7797 — the p1mn would be believed to claim that he built it
by himself, even though there was no N’ to substantiate his claim. The reason he is
believed is because he has -

TONMPY MR P2 ORT na — a W, for he could have claimed I bought it
from you; in which case he would have been believed since it was 72737 Mw"2 17w, as
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mooIn explained previously. The 1n is sufficiently powerful that it overrides the lack of a
35
.

RN 81 - The abovementioned answer

2oIaR2 R9R WK — explains only the w17°n that they divide the stones in spite of
the 1n that the P has.

bnon apn 9aR — however concerning the place of the wall, which the mwn
teaches that they divide that as well —

MR PPRINT RLWS 29wY — it was always obvious that the place is divided
among the two parties. We do not need the 71wn to teach it to us. Concerning the 0p» there
is no P1mn, and therefore no n. Even if we are not aware at all who built the wall (in a
7vp2 for instance, without a n°117), we would still divide the place of the wall.*

Why then does the mwn teach us that we divide the 901571 0P as well, since it is obvious
and unrelated to the 17 of 1MIX 1211 ? MdOIN replies:

QIPRT ¥R 2%IaR ¥PiT S7XY — however since the 71w»n mentioned that they

divide the stones, he also mentions that they divide the place® since in fact it
is true, and did not require any major elaboration on part of the f1wn.

Summary
When there is a wall between two properties (in a 7vp1) and there is no

indication at all who built it, the 17 is that if the wall collapsed they divide the
place and the stones between both neighbors, even if the wall fell into one
person’s property. We know this is true, because the &713 contends that when
two people jointly build a 7vpa2 Hn1o, there is really no need to build a n 1 at
all. For even if it will fall 717 XnwA> the 177 will still be 2p71.

There is no P17 in this case as opposed to the cases of 2112 779 7°%nn and
%91 noan, for there the npin precedes the 790, while here the Po0 precedes the
B,

The o0 originated with the building of the wall. While the wall was standing,
if each of the neighbors claimed it as his, the 17 would be 12121, since there is
neither X°X1 nor a prmn. We would not say 123 2°987 72 since there is a X117
X11mn7. This 7°7 carries over to the collapsed wall, regardless where it fell.
However in a situation where the wall remained 777 N2 for an unusual
extended period of time, then in the above situation, where there is no hint as
to who built the wall, the one in possession would be believed to claim that it

% The lack of a i is not a proof that he did not build it himself; rather it is merely a lack of proof. The 1%
therefore is the proof that he did indeed build it. See footnote # 13. See ‘Thinking it over # 3.

% 1n a avpa Yo without a notm, if it was 777 XN 991 and it was 7377 1MWwT2 7w, the 17 would be as
follows: The prmn would retain the 0°12K, since he has a 13 of 71°nnpP%. However the 7n171 opn is divided
equally. (The same would obviously also apply if he actually claimed 7°nip5.)

7 One may have wondered, since the 73w mentions only the 2°328 and not the @p», perhaps the 21 has a
different 17. To remove any such misconception the 711wn states both.

3 This is commonly referred to as P20 791w MK KO*ON.
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is his, for he has a 1 of 7°nnp> Jnn. Had he claimed 7°nnp 7an he certainly
would be believed. Therefore he is also believed to claim 17710 °n*12 IR,

If, in the above case of 7712777 1MWw12 1w, we are aware that they were required
to build it jointly, then if he claims 7°nnP% nn, he would be still be believed.
The requirement of building it together does not preclude the possibility of a
subsequent purchase by the p1mn. He is considered a P, if 7277 1nw02 17w,
despite the fact that >7778 >79p X% 1OMW, since it is such a long time, even
7omw would not allow this to happen.

If however in the above case the prmin claims 721 °n°12 he is not believed,
even though he has a wn of nnp? Jan. It is considered a 07y DPna WAH.
Common sense testifies that no one will willingly forfeit his right to coerce
his neighbor to build a wall jointly, and instead build it himself.

It is this case that the mwn is referring to when it states that (only) "121 7297
2P . Without the 73595 the prmin will be 0P JnnT 13102 183, however the
70°9% tells us that it is a 2>7¥ 01p»2 131, when there is a N112% 211 jointly.

Thinking it over

1. Why does the X3 answer '117 Xnmw? 9017'? According to Mmoo that was
assumed in the question! The X713 should have answered that it was 1w
72907 M2, It seems that the 79077 32 700 P!

2. Why is 7°nmp% 9 believed (even) if 72777 1mwa vw,”” why don’t we say it
is a poo;7 ToNUW RY XO*ON?

3. In the case of a 7¥p2a, and 7277 1MW 1w, where the prmn claims °n°i2
17717; does he need a 1 of nnPY 1N to be believed or can he be believed
directly because of his 7913 °n°12 myw, since it was 7277 1MYN2 2?0

4. In a nypP2 where both agree to build the wall together, seemingly a N1 is
not really required. Should we not require a n*i17 in order to protect the XX
1In case it was 7277 1Mw2 1Y by the prmn?

¥ See footnote # 33.
40 See footnote # 35.
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